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Question 1. [8 marks]

Anish and Zifei are working together on Phase I of their CSC207 project. They share a
Subversion repository located at http://markus.cdf.toronto.edu/csc207-2015-01/superteam.
The current version in the repository is revision number 5. The repository contains two files,
todo.txt and data.txt, with the following contents:

todo.txt

CRC
demo
submit

data.txt

List
Map

Q: Zifei just bought a new laptop and wants to get a local copy of the repository on
it. What command does she need to execute?

Suppose now that Anish does some work in his local copy. He then runs svn status:

anish$ svn status

D todo.txt

? walkthrough.txt

M data.txt

Q: What sequence of commands does Anish need to issue so that the changes made
locally (including any newly created files) are part of the repository?

Q: After the commands above are issued, what is the revision number in:

• Anish’s copy?

• Zifei’s copy?

• the repository?
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Q: What sequence of command(s) does Zifei need to issue so that her local copy is at
the latest revision?

Anish and Zifei both have the latest revision in their local copies and there are no local changes.
Now, Anish and Zifei both edit their local copies of data.txt:

Anish: data.txt

Set
List
Map

Zifei: data.txt

List
Map
Queue

Q: Assuming the changes they made do not conflict, what sequence of commands do
Anish and Zifei need to issue so that their changes become part of the respository and
so that they both have the most recent version of data.txt? For each command, state
who needs to execute it, Anish or Zifei.

The file data.txt should now have these contents:

data.txt

Set
List
Map
Queue
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Question 2. [8 marks]

Consider this main method:

public static void main(String[] args) {

System.out.println(Pair.getNumberOfPairs()); // prints: 0

Pair<Integer> pairOne = new Pair<>(new Integer(3), new Integer(4));

System.out.println(Pair.getNumberOfPairs()); // prints: 1

Pair<String> pairTwo = new Pair<>("hi", "bye");

System.out.println(Pair.getNumberOfPairs()); // prints: 2

System.out.println(pairOne.toString()); // prints: (3, 4)

System.out.println(pairTwo.toString()); // prints: (hi, bye)

pairOne.setX(new Integer(8));

System.out.println(pairOne.getX()); // prints: 8

}

Implement class Pair so that the main method above compiles, runs, and produces the output
shown. You should assume the main method is in class Pair.
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More space for your answer to Question 2:
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Question 3. [13 marks]

Assume that interface Supervises and class Employee have been implemented. Implement class
Supervisor according to the UML diagram. Here is information about Supervisor’s methods:

• Method toString returns a string that includes the string produced by Employee’s toString
and a string representation of this Supervisor’s list of employees.

• Method changeSupervisor checks whether each Employee in the given list of employees is
supervised by this Supervisor and, if so, removes the Employee from this Supervisor’s list
of employees and adds the Employee to the new Supervisor’s list of employees.
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More space for your answer to Question 3:
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Question 4. [5 marks]

The following code compiles without errors:

public class Top {

public int value = 1;

public void printValue() {

System.out.println(value);

}

}

public class Mid extends Top {

public void printValue() {

System.out.println(value);

}

}

public class Bottom

extends Mid {

public int value = 3;

}

Suppose we have a main method that contains this code segment:

Top myVar = new Bottom();

(a) [1 mark] Which variable is accessed in the expression myVar.value?

The instance variable value in class Top.

The instance variable value in class Bottom.

None of the above; this expression is illegal.

(b) [1 mark] Which variable is accessed in the expression ((Mid) myVar).value?

The instance variable value in class Top.

The instance variable value in class Bottom.

None of the above; this expression is illegal.

(c) [1 mark] Which variable is accessed in the expression ((Bottom) myVar).value?

The instance variable value in class Top.

The instance variable value in class Bottom.

None of the above; this expression is illegal.

(d) [1 mark] If the method myVar.printValue() is called, which method is executed?

The method printValue in class Top.

The method printValue in class Middle.

None of the above; this method call is illegal.

(e) [1 mark] If the method ((Bottom) myVar).printValue() is called, which method is executed?

The method printValue in class Top.

The method printValue in class Middle.

None of the above; this method call is illegal.
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Use the space below for rough work. This page will not be marked unless you clearly indicate
the part of your work that you want us to mark.
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interface List<E> extends Collection<E>, Iteratable<E>:

// An ordered Collection. Allows duplicate items.

boolean add(E elem)

Appends elem to the end of this List.

void add(int i, E elem)

Inserts elem at index i if this List.

boolean contains(Object o)

Returns true iff this List contains o.

E get(int i)

Returns the item at index i of this List.

int indexOf(Object o)

Returns the index of the first occurrence of o, or -1 if not in this List.

boolean isEmpty()

Returns true iff this List contains no elements.

E remove(int i)

Removes the item at index i of this List and returns the item.

int size()

Returns the number of elements in this List.

class ArrayList<E> implements List<E>

SVN commands

svn add [PATH]

svn checkout URL

svn commit [PATH] -m MESSAGE

svn delete [PATH]

svn list [PATH]

svn status [PATH]

Meaning of output:

A: item is scheduled for addition.

D: item is scheduled for deletion.

M: item has been modified.

?: item is not under version control.

svn update [PATH]

Total Marks = 34

End of Examination


